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Note :– This paper is of Thirty five (35) marks divided into

two (02) sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on

th e given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (35)  (02)

          





       


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Section–A

–

Long Answ er Type Questions

 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(9½)

(02) 

1. Divide India into different physiographic units and

discuss the characteristics of Gangetic plain.





2. Climate is the major determinant of vegetation types

and on a broad view rainfall is more significant than

any other factor of climate.” Evaluate this statement

with suitable examples.

        

         


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3. Give description of distribution and production of iron

ore in India.



4. Describe the population distribution of India. Explain

the factors responsible for the spatial variation of

population distribution in India.





5. Discuss the merits and demerits of green and white

revolutions in the agricultural sector of India.

        



Section–B

–

Sh ort Answ er Type Questions

  4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(04)

(04) 
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1. Divide India into different soil region and discuss the

main characteristics of them.





2. Describe in brief the Industrial regions of India.



3. Mention the major crops grown in India.



4. Mention the mineral with of Chota Nagpur plateau.



5. Discuss the major modes of Transport in India.



6. What are the multipurpose project ? Describe the

Rihand Valley project.

      



7. Explain new theory of Indian Mansoon.



8. Explain the trends of Urbanization in India.



**************


